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25.3 617 | 3.03 |14.113
40.318 | 21.188 | 18.048 | 29.131
32.02 | 12.89 | 9.75 | 20.833

52.8 | 33.67 | 30.53 | 41.613 |

iy

FOLLOW THESE DIRECTIONS CAREFULLY:
Circle the number inside any box above. It doesn’t matter which number.

Cross out all numbers that are in the same row and the same column as the number you
circled. You should cross out six numbers.

Circle any other number except a number you have crossed out.

Cross out all numbers that are in the same row and the same column as the second number
you circled.

Repeat the above two steps for a third number.

There should now be only one number left that is not circled and not crossed out. Circle
this number.

© @ O® OO

Write the four numbers you have circled in the ellipses below:

Add your four numbers. The sum is:

EACH DIGIT OF YOUR ANSWER STANDS FOR A LETTER. DECODE YOUR ANSWER
USING THE DECODER KEY BELOW.

112]3]4]5]6]7]18]9
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Hidden State

THERE IS A HIDDEN STATE IN THE MESSAGE TO THE LEFT. (
TO FIND IT, FOLLOW THESE DIRECTIONS: ,

FIRST, work each problem below and find the correct answer

in the rectangles to the left.
SECOND, cross out the letter or number next to each correct
answer. The HIDDEN STATE will remain!
KoK MK MK MK M K MK 5.
6.2 5.87
1 ~ 3.9 2 - .29
68.59 12.095
3 + 2.39 4 _ 7086
”7473 645.7 15.098
938.8 S +2931 6 + 7.466
63.942
385.02 23 .4
5.58 7 - 16.2 8 + 54073
6.13
.6 752 .4
0% — 1.47 10 = 1406
16.4 39.865
11 - 2:308 12 +24.077
800.94 601 .4
13 +197.¢6 14 - "3.88
40.095 24.39
15 -37.186 16 + 47.869
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